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UNIT 1
ACCOUNTING SYSTEM

Active Vocabulary
owner — n BJIaCHUK
tax — »n I0aTOK
fetch — v onepxyBaTu, IPUHOCUTH
trace — v BiICJIIZIKOBYBATH, BIICTE)KYBaTU
assets — n, p/ aKTHBH; current assets — MOTOYHI aKTHBH, non-current
assets — HEOOOPOTH1 aKTUBU
liabilities — », p/ macuBu
net income — YUCTHUIl TPUOYTOK
cash flow — rpomoBuii noTik
earnings — n, p/ 3apo0iTOK, TPUOYTOK
share — »n qomns; akiis; syn stock
obligation — n 060B’s130K; syn duty, responsibility
entity — » €KOHOMIYHA OJIUHULIS
scarce — adj HeIoCTaTHIN, AedIIUTHUIA
employer — n poOoTOAaBEIH
account — » paxyHOK
merchandise — » maprtis (ToBapy), BaHTax
warehouse — » ckiajg
income tax return — nexiapaiiis Opo NpUuOyTKOBUI MOJIATOK
overall goal — 3aranbHa mera
evaluate — v ominroBatu; evaluation — » ominka
virtually — adv npakTuuHO, GakTU4HO; syn actually
environment — » HaBKOJIMIIHE CEPENOBUILIE
public image — cTaTyc y CycniabCTBI
to a great extent — 3HAaYHOIO MIpPOIO
adjust — v HaamITOBYBaTH, MiATAHATH
conform — v BiJINIOB11aTH, IPUJIAIITOBYBATUCS; syn adapt
challenging — adj cknaguuii, BAXXKUi
effect — n BruuB, pe3ynbTar, ais
transaction — » omepartis
tax burden — nogarkoBui TArap



maintenance of files — BeieHHs 1oKyMeHTali1
summarize — v maBOJAUTH I1JICYMOK

forecast — » mporuo3yBaHHs

current period — TOTOYHUI TIEP10]

Exercise 1
Translate the following sentences with verbs from the active
vocabulary.

1 The wanted man was fraced to an address in Amsterdam. 2 Shall
I fetch your coat for you? 3 We evaluated the situation very carefully
before we made our decision. 4 The seat can be adjusted to different
positions. 5 This building does not conform to fire regulations. 6 Could
you summarize the story so far? 7 The Chancellor didn’t forecast the
sudden rise in inflation.

Exercise 2
Find synonyms among the following words.

Obligation, actually, warehouse, owner, adapt, current, entity,
storehouse, conform, proprietor, universal, transaction, estimate, net
income, challenging, overall, employer, responsibility, evaluate,
virtually, net profit (4m), economic unit, boss, difficult, deal, running.

Exercise 3

Completer the sentences with the words from the active vocabulary:
liability, earnings, shares, merchandise, conform, forecast, adjust,
evaluation, tax.

1 According to the weather ..., it’s going to stay hot for the rest of
the week. 2 It took a few seconds for her eyes to ... to the darkness. 3
We need to carry out a proper ... of the new system. 4 Students can be
expelled for refusing to ... to school rules. 5 Tenants have legal ... for
any damage they cause. 6 They inspected the ... carefully. 7 He claimed
compensation for loss of ... . 8 They were able to sell their ... at a higher
price. 9 He already pays 40% ... on his income.
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Text

‘Accounting is the language of business’... Indeed, like no man
without ability to express his thoughts clearly and understandably can
achieve very much in life, no firm can succeed without a good
accounting system. Accounting is a necessary tool which not only
provides information to the owners about how its money is working, and
to the state about how big the taxes are to be fetched, but, the most
important, enables the company to control, plan and trace all the actions,
processes and projects. Such terms as assets, liabilities, net income, cash
flow and earnings per share are but a few examples of technical
accounting terms widely used throughout the business world. Every
investor, manager, and business decision maker needs a clear
understanding of accounting terms and concepts to participate and
communicate effectively in the business community.

There are many types of accounting information: financial
accounting, management accounting, and tax accounting.

Financial Accounting is general purpose information. It refers to
information describing the financial resources, obligations, and activities
of an economic entity. Financial accounting information is designed
primarily to assist investors and creditors in deciding where to place their
scarce investment resources. Such decisions are important to society, as
they determine which companies and industries will receive the financial
resources necessary for growth , and which will not.

However, many other decision makers also make use of financial
accounting information. A company’s managers and employers
constantly need such information in order to run and control daily
business operations. For example, they need to know the amount of
money in the company’s bank accounts, the types and quantities of
merchandise in the company’s warehouse, and the amount owed to
specific creditors. Financial accounting information also is used in
income tax returns.



Management (managerial) accounting involves the development
and interpretation of accounting information intended specifically to aid
management in running the business. Managers use this information in
setting the company’s overall goals, evaluating the performance of
departments and individuals, deciding whether to introduce a new line of
products, and in making virtually all types of managerial decisions.
Management accounting information often includes evaluations of ‘non-
financial’ factors, such as political considerations®, the possible effects
of various actions upon the environment, the company’s public image,
and worker productivity.

The preparation of income tax returns is a specialized field within
accounting. To a great extent, tax returns are based upon financial
accounting information. However, the information often is adjusted or
reorganized to conform with income tax reporting requirements. The
most challenging aspect of tax accounting is tax planning which means
anticipating the ‘tax effects’ of business transactions and structuring
these transaction in a manner that will minimize the income tax burden.

Accounting provides information for all these purposes through the
maintenance of files of data, analysis and interpretation of these data,
and the preparation of various kinds of reports. Most accounting
information is historical — that is, the accountant observes the things that
the organization does, records their effects, and prepares reports
summarizing what has been recorded; the rest consists of forecasts and
plans for current and future periods.

* political considerations — TOMTAYHI MOTUBU

Exercise 4
Answer the questions.

1 Does accounting measure and interpret the results of economic
activities? 2 Why is accounting often called ‘the language of business’?
3 Is accounting information limited to the business world? 4 Name some
of the accounting terms mentioned in the text. 5 What types of
accounting information do you know? 6 What are the main users of
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financial accounting information? 7 Why do the managers and employers
of a company need the financial accounting information? 8 In which way
do managers use management information? 9 What is the special feature
of tax accounting information? 10 What does it mean that accounting
information is historical?

Exercise 5
Translate the word combinations using the active vocabulary for
italicized words.

Axmueu Ta nacuéu MIANPUEMCTBA; OJEPKATH YUCUL NPUOYIOK;
2pouiosuli NOMIK BiJ IHBECTUIIINHOL JISUIBHOCTI; 0015 BIJIMOBIIAJIbHOCTI;
KyIyBaTH Ta TIPOJaBaTU moeapu; BIIKPUBATH paxyHoK y OaHKY;
3aMOBHIOBATH JeK1apayiro npo npubymxoull no0amox; oyiHweamu Jaxi
BHOOPUYOi KOMICIi; 3aXMIATH HABKOJIUUIHE cepedosuuje; yIallTOBYBATH
CYNEepEUKH; CKIaoHi TPOOJEMHU; ni08ooumu nioCymku CIHOPTUBHUX
3MaraHb.

Exercise 6
Translate the sentences using the active vocabulary.

1 51 3ycTpiB BIaCHMKA MICBKOTO TOTEII0 Ta MU OOTOBOPUIIN III0UY
CUCTEMY OMOAATKyBaHHsS. 2 Uu MOXKeul TH BIACTEXKUTU 1T MEHE ACsKi
netani y ¢iHaHCOBIM neknapaiii Hamoi Gipmu? 3 3apas y il KpaiHi He
ICHY€ TIOJITY 3BITHOCTI Ha (pIHAHCOBY Ta KepiBHUIIBKY. 4 [IpuOyTOok Ha
OJIHY AakKIil0 € OJHUM 3 OCHOBHUX IIOKa3HHUKIB, IO XapaKTEepU3ye
¢iHaHcoBuil crtaH KommaHii. S5 OOMIK € MHUCTEITBOM 3aIlucy,
Kiacudikaiii Ta y3araJlbHEHHS paxyHKIB, a TaKOX IHTepIpeTanii
oJiepkKaHuX pe3yJbTaTiB. 6 OOJIIKOBA 3BITHICTh € BAXKJIMBUM JIKEPEIOM
iHdopMarii sK JUisl 30BHINIHIX, TakK 1 JJIsi BHYTPIIIHIX CIIOKUBaYiB.
7 PedopMyBaHHs OyXraaTepcbKoro OOJIKy B yMOBaX pPHUHKOBOI
€KOHOMIKH, ajanTaiis WOoro /10 MIDKHAPOJHUX CTaHJAPTIB € OCHOBOIO
oy Horo Ha (piHAHCOBUIN Ta KEPIBHULIBKHUH.



Exercise 7

Complete the definitions with the following words: bookkeeping,
profit, shares, interest, current, debtor, creditor, capital, dividend,
company, net, statement. Consult the dictionary for the terms.

1 Recording financial transaction is ... . 2 A legal organization,
formally registered, and having a life independent of its members, is a ... .
3 A person or organization that owes money is a ... . 4 A person or
organization to whom money is owed i1s a ... . 5 The assets, including
cash, debtors and stocks used in a company’s trading, available at the
present moment, are its ... assets. 6 The equal parts into which the
ownership of a company is divided are its ... . 7 The money paid to
shareholders out of a company’s profits is the ... . 8 A company’s
turnover, less its cost of sales, is its gross ... . 9 A company’s turnover
after the cost of sales, tax, rent and other liabilities are deducted is its ...
profit. 10 The sum of money paid by a borrower to a lender for the use of
the lender’s money is the ... on the loan. 11 The document sent to the
debtor by the creditor, showing how much is owed and for what, is the

. of account. 12 The shareholders’ investment in a company is the
share ... .

Exercise 8
Put the verbs in brackets into the appropriate tense.

Communism 1is a political and economic doctrine which (say) that
everything must belong to the state and the government is to organize all
the production. Karl Marx (formulate) his idea of communism as ‘from
each according to his ability, to each according to his needs’. Command
economy where strategic decisions (make) by government and
(not/regulate) by the price system (rely) on the communist doctrine.
China still (organize) its economy along communist lines but Russia and
other former Soviet Union’s countries and East-European countries
recently (move away) to more market-based economies.



Exercise 9
Choose the appropriate words in brackets.

1 (A command economy / A free market economy) is society where
the government makes all decisions about production and consumption.
2 (Economics / Economy) studies how markets and prices allow society
to solve the problems of what, how, and for whom to produce. 3 Every
economist sees (the restriction / the importance) of the question of what,
how, and for whom to produce. 4 Nations have different (consumption /
levels) of farm production. 5 When (the price / the importance) of some
goods grows, people will try to use less of them but producers will want
to produce more of them. 6 In (mixed / both) countries, Canada and the
USA, structural changes in the agricultural sector of economy have
become of interest to economists and general public in the 80s and 90s
of the 20™ century. 7 After years of competition between command and
market economies, (the former / the latter) gave way in many countries
of the world to (the former / the latter).

Exercise 10
a) Read the words paying attention to the stress:
on the second syllable on the third syllable

economy economics
economist economic
to economize economical

b) Change the phrases using economic or economical.

1 A practical woman. 2 Problems of economics. 3 A crisis in the
field of economy. 4 To be careful in the spending of money. 5 Reforms
in the field of economy. 6 A law regulating the sphere of economics. 7 A plan
of the industrial development of the country. 8 A small car that doesn’t
use too much fuel. 9 Geography that studies the lociion of industries,
markets, transport.



¢) Put in the words: economy, economics, economist, economic,
economize (v), economical.

1 An early definition of ... was ‘an inquiry into the nature and
causes of the wealth of nations’. 2 The national ... is the system of the
management and use of resources of a country. 3 You can ... if you
compare the prices of goods before buying them. 4 J. M. Keynes was a
famous .... 5 Inflation may cause a bad ... state in a country. 6 If you’ve
got a large family, it’s more ... to travel by car than by train.

Exercise 11
Open brackets using the appropriate voice and tense. Translate the
sentences.

1 Our economists (choose) another level of output for the next year
as the situation at the market already (change). 2 The demand for a
commodity (affect) by a change in price and this relationship (call)
elasticity of demand. 3 Some African countries already (buy) large
quantities of food from the European countries and the USA as they (lose)
most of their crops because of the drought. 4 The present director of the
company (know) the way how to run a business efficiently as he (teach)
the theory of economics at London School of Business. 5 Recently the
increase in consumers’ income (follow) by the increased demand for
normal goods. 6 This American company (sell) its computers very
successfully at the market now by maintaining low prices. 7 The balance
sheet (show) to the company’s manager last Monday and he (can) make
proper managerial decisions just in time. 8 New economical methods of
transporting fruit and vegetables (develop) in the future and they (kelp) to
deliver fresh products to the consumers more quickly.

Exercise 12
Put in prepositions of (9), on (2), in (7), by (1) and below (2), where
necessary.

The simplest set ... double entry books consists ... a journal and a
ledger. When a transaction occurs, it is not entered directly ... the
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account, but it is first recorded ... a book ... original entries known as a
journal. Several kinds ... journals are used ... a bookkeeper, the general
journal being the most common type. To list some recurring transactions
special journals such as sales, purchases, cash-receipts and cash-dis-
bursements journals are widely used ... bookkeeping. Transactions that
cannot be registered ... a special journal and all entries that cannot af-
fect ... cash are recorded ... a general journal.

In a general journal the title ... the account to be debited is
placed ... the top line, with its amount shown ... the debit column. The
title ... the account that 1s to be credited 1s shown ... it, with its amount
placed ... the credit column. ... this may be a written explanation ... the
transaction. The total ... the debits column should always equal the
total ... the credits column ... each general journal page.

Exercise 13
Open brackets using verbs in brackets in the appropriate form.

At the end of the month or more frequently all journal entries
(post) into the book of accounts (know) as a general ledger (consist) of
separate pages for each account. The page for each account (show) its
debits and its credits, so that the balance of each account (can)
(determine). As each journal entry (record) on the (plan) side of its
account, a mark (place) in the post column of the journal in order
(show) that it already (record) in the ledger. The date (use) in the ledger
(be) the date on which the entry first (record) in the journal. The post
column in the account (use) (show) which page this entry (post) to in the
ledger.

In addition to the general ledger, a subsidiary ledger (use) in order
(provide) information in greater detail about the accounts in the general
ledger. For example, the subsidiary ledger (may) (keep) for the amount
of money (owe) to the company by all its customers, for the wages (pay)
to each employee, for each building or machine (own) by the company
and for amounts (owe) to each of the company’s creditors.
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UNIT 2
ELEMENTS OF FINANCIAL STATEMENTS

Active Vocabulary
ultimate objective — HaliBua (kiHiieBa) MeTa
profit — n TpuOyTOK; v IPUHOCUTU MPUOYTOK
accomplish — v BuKOHyBaTH, fOCITaTH
constitute — v BCTAaHOB/IIOBATH, CTAHOBUTHU
external user — 30BHIIIHIN KOpUCTYyBa4
internal user — BHyTpiIIHI# KOpUCTyBay
statement — » 3asBa, OajgaHC, 3BIT
income statement — cTaTTs 10X01y
statement of changes in equity — 3BiT IIpo 3MiHU aKI[IOHEPHOTO
(BacHOr0) Karitany
statement of cash flows — 3BiT Ipo nepecyBaHHs TPOIIOBUX KOIITIB
perspective — n TOUKa 30py, HOTJIS]
performance — » BUKOHaHHs1, poOOTa, BUCTYII
designate — v Ha3Ha4aTH, MO3HAYATH
balance sheet — OanaHcoBuii 3BiT
operating activity — moTouHa AisIbHICTh
label — v Ha3suBaTH, TOMIYaTH
revenue — n IpuOyTOK
exceed — v mepeOUIBITYBATH, IEPEBEPIIYBATH; syn SUIPASS
net loss — 3aranbH1 BTpatu
decline — »n 3MeHIIIEHHS
customary — adj 3BU4alHUN
appropriate — adj BiANoBIAHUHN
contributed capital — BknageHi komtu
net earnings — YUCTHIl TPUOYTOK
retain — v yrpuMyBaTu, 30epiratu
total claims — 3aranpHa cyma BUMOT
equity — » BacHUM (aKIIOHEPHMI) KamiTaa KOMIaHii
cash receipts — rpo1oBi (KacoBi) HaJIXOJIKEHHS
cash inflow — mpuTOK rpoIIOBUX KOIITIB
cash outflow — BiATIK IpOIIOBUX KOIITIB
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Exercise 1
Translate the following sentences with verbs from the active
vocabulary.

1 Did you make a profit on your house when you sold it? 2 Who
will profit most from the tax reforms? 3 I managed to accomplish my
goal of writing twenty emails in an evening. 4 Women constitute a high
proportion of part-time workers. 5 The Prime Minister will make a
statement about the defence cuts today. 6 Try and look at this from my
perspective. 7 These arrows designate the emergency exits. 8 These
dangerous tins should be labelled with a warning. 9 Revenue from
income tax rose last year. 10 He was stopped by the police for exceeding
the speed limit. 11 As an industrial power, the country is in decline. 12 Is
it customary to send cards at Christmas in your country? 13 The matter
will be dealt with by the appropriate authorities. 14 Despite all her
problems she has managed to retain a sense of humour.

Exercise 2
Find synonyms among the following words.

Ultimate, decline, benefit, sticker, constitute, exceed, usual, final,
profit, point of view, appoint, accomplish, hold, label (n), action, reach,
designate, perspective, customary, performance, establish, surpass,
decrease, retain.

Exercise 3

Completer the sentences with the words from the active vocabulary:
a balance sheet, profits, equity, performance, revenue, perspective,
statement, declines, customary, accomplish, appropriate.

1 For the first time, the company’s annual ... were over $1 million.
2 What exactly do you hope to ... this year? 3 According to its financial
..., the company made a profit of $15 million last year. 4 A prisoner has
a different ... on prison life than a guard. 5 It is the first ... of Berlioz’s
Requiem in this city in over 20 years. 6 Each produces an operating
account and ... . 7 Nintendo’s estimated ... totals $9 billion worldwide.
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8 Stock markets in Europe showed similar .... 9 The man at the hotel
welcomed us with the ... greeting. 10 Considering what he did, I think
the punishment was .... 11 Florian’s relatives will retain rights to the
property. 12 San Francisco-based Schwab returned 30 percent on
shareholders’ ..., up from 29 percent a year ago.

Text

The ultimate objective of a profit-oriented enterprise is to increase
the wealth of its owners. The economic resources employed by a
business to accomplish this objective are called assets. To increase the
wealth of its owners, an enterprise must transform its existing assets into
greater quantities of other assets. The existing resources (i.e., assets) are
exchanged, used or otherwise invested by an enterprise in its efforts to
provide goods and services to the members of society.

The elements of financial statements constitute building blocks of
information that are useful in the evaluation of the economic status of a
business enterprise. These blocks of information are presented to
external users in four general financial statements. The income
Statement, statement of changes in equity, and statement of cash flows
provide unique perspectives on the performance of the enterprise during
some designated period of time. The fourth statement, the balance sheet,
provides information regarding the financial condition of the enterprise
at some designated point in time.

1 The income statement

The income statement measures the difference between the asset
increases and the asset decreases that were associated with running the
business. The asset increase resulting from the operating activities was
labelled revenue. The asset decrease was called an expense. If revenues
are greater than expenses, the difference between these two elements is
called net income. If the expenses exceed the revenues the difference is
referred to as a net loss. Accordingly, net income indicates that the
company’s net assets increased as a result of operating activities while a
net loss would show that net income declined.
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The New Company
Income Statement
For the Period Ended 20xx

Revenue (i.e., asset increase( $7,000
Expense (i.e., asset decrease) (4,500)

Net Income (i.¢., change in net assets $2,500

Income 1s measured over some period of time. The customary
length of the accounting period is one year. It can also be measured
weekly, monthly, quarterly, semi-annually, or any other time period that
the users deem appropriate in relation to their needs for information.

2 Statement of Changes in Equity

The statement of changes in equity is used to explain the effects of
transactions on equity during the accounting period. It includes the
beginning and ending of balances for the amount of contributed capital
and reflects any new investments in the business. It also shows the
portion of the net earnings that were retained in the business. The equity
is increased by the amount of net income and decreased by the amount of
distributions.

The New Company
Statement of Changes in Equity
For the Period Ended 20xx
Beginning Contributed Capital $ -0-
Plus: Investments 10,000
Ending Contributed Capital $ 10,000
Beginning Retained Earnings $ -0-
Plus: Net Income 2,500
Less: Distributions (1.500)
Ending Retained Earnings 1.000
Total Equity 11,000

3 The Balance Sheet
The statement that lists the assets and the corresponding claims on
those assets is called the balance sheet. The total claims (i.e., liabilities
plus equity) are equal to the total assets. At any given point in time, a
15



company has a specific amount of assets and claims on those assets. The
balance sheet describes the financial condition of the company at a
specific point in time (i.€., normally the end of the accounting period).

The New Company
Balance Sheet
As of the End of the Period, 20xx
Assets $ 15.000
Liabilities $ 4,000
Equity:
Contributed Capital $10,000
Retained Earnings 1,000
Total Equity 11,000
Total Liabilities and Equity 15,000

4 The Statement of Cash Flows

The statement of cash flows explains how a company obtained and
used cash during the accounting period. The sources of cash are called
cash inflows; and the uses are known as cash outflows. The statement
classifies cash receipts (i.e., inflows) and payments (i.e., outflows) into
three categories including operating activities, investing activities, and
financing activities.

The New Company
Statement of Cash Flows
For the Period Ended 20xx
Cash Flows from Operating Activities:
Cash Receipts from Revenue $ 7,000
Cash Payments for Expenses (4,500)
Net Cash Flow from Operating Activities $ 2,500
Cash Flows from Investing Activities: -0-
Cash Flow from Financing Activities:
Cash Receipts from Borrowed Funds $ 4,000
Cash Receipts from Owner Investments 10,000
Cash Payments for Distributions (1,500)
Net Cash Flow from Financing Activities 12,500
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| Net Increase in Cash $ 15,000 |
The purpose of the statement of cash flows is to throw light on
management’s use of the financial resources available to it and to help
the users of the statements to evaluate the company’s liquidity, its ability
to pay its bills when they come due.

Exercise 4
Answer the questions.

1 What is the major goal of any business enterprise? 2 What are the
main blocks of information for external users? 3 What does the income
statement measure? 4 When the revenues of an enterprise is called a net
income? a net loss? 5 What does the statement of changes in equity
show? 6 What does the balance sheet represent? 7 What is a fundamental
characteristic of every balance sheet? 8 Give explanations for inflows
and outflows. 9 What does the statement of cash flows focus on?

Exercise 5
Translate the word combinations using the active vocabulary.

Jlocaratu HaWBUIOI METH; IPUHOCUTU JOX1J; BHUKOHYBAaTH
OOIITHKY; 3aCHOBYBATH HOBY JI€pPKaBHY YCTAHOBY; MOOAUYUTH CUTYAIIIIO
3 1HIIOT TOYKH 30py; TPUKICIOBATH SPJIUKH; OJEpPKATH BEJIUKI
npuOyTKHU; TEPEBUIIYBATHU BCl HOPMHU; HE3HAUYHE 3MEHIICHHS I[1H;
HaJIe)KH1 MIpH TOKapaHHS; YTPUMYBATH KOHTPOJb HaJ MISUTBHICTIO ITI€ET

bipmu.

Exercise 6
Translate the sentences using the active vocabulary.

1 banaHc € oHi€IO 3 BAXJIMBUX (POPM 3BITHOCTI MIAMPUEMCTBA, IO
CKJIaJIa€ThCSl HA MEeBHY nary. 2 OO0’ekTaMu OyXTalITepChbKOro OOJIKY €
aKTUBU, MMACUBH, a TAaKOXX TOCIOJAPCHKI mpoiiecu. 3 BracHuil kamiTan
bopMy€eThCS 3a paXyHOK BJIACHUX PECYpCiB MijinpuemMcTBa. 4 bamancose
PIBHSHHS € OJHHUM 3 OCHOBHHMX €JIEMEHTIB METOAYy OyXrajlTepChKOro
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o0siky. 5 BknageHuid kamitain OiJIpUEMCTBA (aKTUBHU) CKJIAJIA€THCS 3
BJIACHOTO Ta IMo3uKoBoro kKamitaimy. (borrowed capital) 6 [upexTop
BI/IMOBIJIA€ 32 OpraHi3ailito OyXrajJTepchbKoro o0JiKy Ha MiAMPUEMCTBI.

YucaiBHUKH
1/4 — one-fourth
2/3 — two-thirds
1.54 — one point fifty-three
30impImuBCs Ha 3 % — grew by 3 percent
3MEHIIUBCS B JIBa pa3u — decreased two times
30UIBIIUBCS (3MEHIITUBCS) 3 ... 10 —
increased (decreased) from ... to ...

Exercise 7
Say in English.

3/4; 1/6; 3/8; 1/5; 3.71; 83.12; 17.4; 20.5; 11.33; 30uIpIIUBCS Ha
1,7%; 3menmuBcsa Ha 8%; 3011bmmBCa Ha 1/3; 3MeHIIMBCI Ha 2/5;
30ubIMBCST Ha 25%; 3MeHmuBes Ha 30.1%; 3MeHIIMBCS y TpU pasu;
30UTBIIMBCS B YOTUPH Pa3y; 3MEHIITUBCS B JIEKIbKA pa3iB; 301JbIINBCS B
ATk pasiB; 3MeHIuBCs 3 92% y 2000 pori 1o 80% y 2006 porri; 3pic 3
40 tucsty ToH B 1991 poui 1o 43 tucsy ToH B 1998 porii; 30U1bmMBCS 3
$24 500 B 1996 pori 10 $24 650 B 1997 porii.

Exercise 8

Complete the definitions with the following words: net, sales, market,
overheads, loss, expenditure, cash-flow, gross, capital, profit. Translate
the names of forecasts.

1 The forecast which predicts how much money will be gained by a
business is called the ... forecast. 2 The forecast which predicts how
much money will be lost by a business is called the ... forecast. 3 The
forecast which predicts how much money will be received or spent by a
business is the ... forecast. 4 The forecast which predicts where most
sales will be made, and what their value will be, 1s the ... forecast. 5 The
forecast which predicts how much the company will sell is the ...
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forecast. 6 The forecast which predicts how much money will be spent
by the company is the forecast of ... . 7 The forecast which predicts how
much money is needed to start up a business or to increase its wealth is
the ... forecast. 8 The forecast which predicts how much money the
company will earn before tax is paid is the ... profit forecast. 9 The
forecast which predicts how much money the company will earn after
tax is paid is the ... profit forecast. 10 The forecast which predicts how
much money the company will have to spend on salaries, heating and
lighting, rent, etc., is the forecast of ... .

Exercise 9
Put in the following words: thus, although, because of, because, so,
but, if, while, however, since.

1 ... rising prices the company stock-in-trade has increased in
value. 2 Capital borrowing has become easier ... the government wants to
stimulate the economy. 3 Bond & Co. doesn’t seem to be doing very
well, ... its goodwill is falling. 4 They are said to have employed a new
Marketing Manager, ... they don’t expect an immediate improvement in
sales. 5 The company’s balance sheet appeared to be satisfactory, ...
within six months it went bankrupt. 6 ... bank loans are a common source
of long-term credit, short-term investment is usually financed in other
ways. 7 Often the two sides of a balance sheet may not be in balance, ...
additional information should be taken into account, such as sale of
assets, repayment of loans, payments of dividends and taxation.

Exercise 10
Choose the appropriate words in brackets. Learn the following

words: tangible assets — wmaTepialibHI aKTUBH; intangible assets —
HEMareplaibHl aKTUBH; Sfock-in-trade — 3amac ToBapiB; real estate —
HEPYXOMICTb; accounts receivable — pnebiTopcbka 3a00ProBaHICTD;

accounts payable — kpenuTopchbka 3a00prOBaHICTh; Survey — ONIUTYBAHHSIL.

1 Knowing the company’s (stocks / goodwill) value, creditors are
ready to invest more money as they expect high (investment interest /
salaries) at the end of the year. 2 Both farm equipment and farm
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buildings make up (short-term / long-term) (intangible / tangible) assets
in agrobusiness. 3 (Accountants / Stockholders) prepare reports in
financial (items / terms) describing the results of past resources
allocation decisions. 4 Any company is responsible for paying salaries
of (employers / employees) and (wages / salaries) of workers belonging
to company current (liabilities / assets) regularly, usually monthly or
weekly. 5 The amount of goods and services known as company (stock-
in-trade / real estate) is available for sale at a given time and it is shown
as an asset on the (accounts receivable / balance sheet). 6 (To calculate
/ To operate) properly the company’s manager should rely on
information obtained from public survey.

HiecsioBa, micjisi AKUX BKMBAECTHCS ITePYyH/IIi:

agree (0o — IOTOJUKYBATUCS Ha participate — OpaTu y4acTh y
approve of — CXBaJltOBaTu prevent from — 3ano0iratu

be due to — nosicHIOBaTHUCS protect from — 3aXUILIATH BiJ

be interested in — 1IKaBUTUCS protect against — IpOTECTYBATU MPOTU
benefit from — onep>KyBaTH BUTONY Bix || rely on — moKiIagaTUCS Ha
compensate _for — KOMIIEHCYBaTH speak of — TOBOpUTHU TIPO
concentrate on — 30CEpEIKYBATUCS HA specialize in — cnierianizyBaTucs y
depend on — 3anexaTu B1J suspect of — 103pIOBaTH Y

insist on — HaNoJIAraTu Ha tell of — po3noBigaTH Npo

involve in — 3ainy4aTu 10 thank for — naxyBartu 3a

object to — 3anepeuyBaTu think of — tymaTtu ipo

Exercise 11

Translate the expressions in brackets using gerund according to the
model.
Model: Some Members of the Parliament insist on (BcTaHOBIIEHHI
KOHTPOJIIO 32 KPEAUTHO-TPOIIIOBOIO MOJITUKOIO LleHTpaibHOrO OaHKY). —
Some Members of the Parliament insist on imposing control over the
Central Bank’s monetary policy.

1 The chief accountant objected to (comysamu ¢hinancosuii 36im,).
2 The stockholders suspect the company of (mae 6ope). 3 The employee
thanked the manager for (niosuwenns zapnramu). 4 The partners are still
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insisting on (donosidamu Ha 3azanvHux 300pax axyionepis). 5 The
employees were told of (npesudenm xomnanii npuioe 3aémpa). 6 Taking
into account the company’s high reputation among businessmen, the
creditors have agreed to (sona eunnamume 6opeu uepes micayw). 7 It is
known that the author’s copyright prevents publishers from
(nyonikysanus tioco xkHueu) without (oodepowcanns o0ozeony). 8 In the
1970s the Rover Group, the major UK car producer, approved of
(0bmedrcenus imnopmy mawiun 0o Benuxoi bpumanii), as it could lead to
job losses in the country’s car industry. 9 Both nations participating in
trading automobiles can benefit from (3acmocysannsa npunyuny
nopisusnvroi nepesacu). 10 Being limited by resources, the company
should concentrate on (supiwenni natisaxciugiuiux 3asdans). 11 Many
countries of the former Soviet block think of (npueonanua oo
€spocorozy). 12 A common agricultural policy of the EC members is to
protect  domestic  producers  against  (imnopmy  Oewesux
ciibecbkococnodapcvkux  npoodykmis) from non-member countries.
13 When a country entirely relies on (odeparcanni inozemnoi inancogoi
oonomoeuy), it can lose its independence.

Exercise 12

Open brackets using the appropriate gerund and preposition if
necessary according to the model.

Model: The manager insisted (the accountant) (to hand in the balance
sheet) in due time. — The manager insisted on the accountant handing in
the balance sheet in due time.

1 The tenant asked if the landowner objected (he) (to build an
extension to the barn). 2 The fiscal police suspected (the company) (not
to declare all its profits). 3 The Minister thanked citizens and firms (7o
allocate means) for coping with the earthquake aftermath. 4 The
company must compensate stockholders (not to pay dividends in time),
as these troubles were due (fo run the company properly). 5 The Mayor
spoke (to raise tax rates on non-residents’ property). 6 The customers
were told (the company) (to open a new modern department store) in
their district. 7 By 1994 more than 100 nations agreed (fo ratify the
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General Agreement on Tariffs and Trade) removing many trade
restrictions. 8 The principle of comparative advantage explains why
different countries tend to specialize (to produce particular
commodities). 9 Economists argue that minimum wage prevents
(businessmen) (to employ young workers with little human capital).
10 Both British car buyers and producers of foreign cars have benefited
(to increase the UK imports of cheaper foreign cars). 11 The rate of
inflation in some LDCs involved (to export natural resources) such as
gas or oil often greatly depends on price changes in the world market.
12 Nowadays many nations and governments are interested (fo develop
international division of labour) through specialization. 13 Employees
and workers in European countries sometimes protest (companies) (to
close enterprises and to decrease wages), (governments) (to increase

taxes) by organizing demonstrations or strikes.

Exercise 13

Compose sentences according to the sense.

1 To be clear of debt

2 If current assets are less than
current liabilities,

3 The money obtained from
selling a company’s current
tangible assets

4 Although accounting is one of
the oldest professions in the
world,

5 Both a person and a company
can own such items of value as

6 In England the three major sec-
tions of the balance sheet,

7 In order to operate the business
properly one should take into
account

8 Accountants are supposed to

a 1s usually calculated at the end of
a fiscal year.

b such as assets, liabilities and
equity are likely to be arranged
vertically.

¢ a stock, a plot of land, a building
or a machine.

d created the legal foundation pro-
tecting the work of many indus-
tries, for example music record-
ing.

e the company should sell off part
of its receivable accounts.

f the management of financial re-
sources and the representation of
other aspects of the business in
financial terms.
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deal with
9 The amount of the owner’s|g it took much time to find

investment interest satisfactory general methods of
10 The Copyright Act adopted by | keeping finance records.
the US Congress in 1976 h that the accounting system 1is just

one of means of processing
information in an organization.

i 1s unlikely to cover the
company’s debts.

Jj the stockholders can’t expect any
dividends

Costs, expenditures, expenses 4acTO TEPEKIAJAIOThCS SK CHHOHIMH — BUTpATH.
Hanp.: additional costs / expenditures / expenses — TONaTKOB1 BUTpATU, advertising
costs / expenditures / expenses — BUTpaTU Ha pekiamy. Ale Tpeda BIAPI3HATH
3HAYCHHSI [IUX TEPMiHIB B eKOHOMIYHHMX TEKCTax. IMCHHHK costs 3a3BHUYall O3HAYAE
IPOIIOBI BUTPATH Ha BUPOOHUIITBO BU3HAYEHUX TOBApiB, OYIBHMUIITBO 3aBOJIiB.
Expenditures — cyma, 110 BUTpau€Ha Ha OIUIATy TOBapiB Ta MOCHyT. Expenses —
CyMa, IO BUTpau€Ha Ha OIUIATY TOBapiB Ta MOCIYT, IO BXE HE € aKTHBOM
KOMIaHi1, sIKa MOKYTIaE.

Exercise 14
a) Find definitions for: expenditures, expenses, costs.

1 the amount of money spent on running a business or part of it.
2 an amount of money spent. 3 sums of money spent by a company on
goods and services that do not become part of a company’s assets such
as rent, wages, insurance, etc.

b) Find English equivalents for:

['pannuHi BUTpaTH; ajibTEpHATUBHI BUTpaTH; OIOJKETHI BUTPATH;
KamiTaJOBKJIAACHHS/IHBECTHULIIT; TPOIIOBI BUTPATH; CHOXKHUBYI BUTPATH;
MOBHI /3arajibH1/CyKyIIHI BUTPATH; PIUHi BUTPATH; TIepe10aYeH1 BUTPATH;
CepelHl BUTpaTH; OaHKIBChbKI BUTpaTH; BUTpaTH 3 (IHAHCYBAHHS;
(G1HaHCOBI BUTpaTH; TNEPEMiHHI BHUTpPATHU; YIPABIIHCbKI BUTPATH;

23




BUTPATU Ha oOpra”izamiio 30yTy; BUTpaTH Ha AYIIy HACEJICHHS;
NOMNEepeHl BUTpaTH; BUTpPaTH Ha 30epiraHHs; TMOCTIAHI BHUTPATH,
MOPIBHSJIbHI BUTPATH; 3HIDKYIOUI BUTpATH; BUTpPaTH Ha MOPAJTbHHMA
3HOC; HaKJIaJH1 BUTPATH; BUTPATH HEMATEPIATHLHOTO XapaKTepy.

Budget expenditures; cash expenses; comparative costs; total
expenditures/expenses/costs; opportunity costs; average expenses/costs;
marginal costs; annual expenses/costs; banking expenses; financing
expenses/costs; anticipated expenses; obsolescence costs; financial
expenses/costs;  variable costs; management expenses; fixed
expenses/costs; intangible costs; consumption expenditures/expenses;
marketing expenses/costs; decreasing costs; preliminary expenses; per
capita  expenses;  storage  expenses/costs;  capital/investment
expenditures; overhead expenses/costs.

Exercise 15
Replace the italicized words with their English equivalents.

1 The company has earned enough to cover its (piuni sumpamuy).
2 A great amount of (kanimanosxnaodenns) will be required before any
profit is earned. 3 Technological innovations are sure to require higher
(eumpamu). 4 (Bumpamu) of $10,000 on new computer equipment have
been planned by the accountant. 5 The producer had to increase the price
in line with increasing (sumpamu supoonuymea). 6 (Ilomouni sumpamu)
are known to include (éumpamu) on running a business, for example
rent, salaries, heat, light, etc. 7 (Haxnaouni eumpamu) are usually grouped
into (nocmitini eumpamu) and (nepeminni eumpamu), rent belonging to
the former type. 8 The company’s bookkeeper evaluated
(anomepnamueni eumpamu) at $5,000. 9 The (nranosi eumpamu) are
likely to be exceeded due to (nenepeobauenux sumpam) on building a
new storage. 10 The government spokesman argues the Prime Minister’s
decisions to dramatically cut (sumpamu xepisnuymea). 11 (Ilocmitini/
Dikcosani eumpamu) do not vary according to the changes in
production.
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UNIT 3
THE BALANCE SHEET

Active Vocabulary

lender — » kpeauTop, JNIOAUHA, KA O3UYAE

exchange — n 0OMiH

on behalf of — Bix iMeHi

lodge — v momimaru, KiacTu

relationship — » BiiHOCHHHU

identity — » Bu3HavasibHa puca, 0COOJIUBICTh

express — v Bupaxatu(cs)

equation — » piBHAHHS

emphasize — v migKpeciroBaTH, akKIEHTYBaTH

net assets — 4MCTI aKTUBM (HETTO-aKTHUBM); current assets — 00OpOTHI
(MOoTOYHI) aKkTHMBH; non-current assets — HeoOopoTH1 akTtuBH; fixed
assets — ocHOBH1 (poH/I1; net current assets — YuCTi 00OPOTHI aKTUBU
receivable — » nebiTopchbka 3a00proBaHiICTh

inventory — » TOBapHO-MaTepiaiabHI 3aMacu

payable — adj Toi, 1110 mijUIATa€E OIUIATI

bond — » akuisa, oOairaisa

paid-in capital — oraueHnuii (BHECEHUM, aKI[IOHEPHHUIT) KarmiTal
retained earnings — HepO3MOAUICHUM MPUOYTOK

preferred stock — mpuBineiioBani akiiii; common stock — 3Buyaiini
(HempuB1JIeIOBaH1) aKIii

shareholder — » akiioHep, BITaCHUK akIIii

par value — HOMiHaNbHA BapTICTh

excess — 7 HaJUTMIIOK, NepeOUIbIICHHS

distribute — v po3noainsaTu

breakdown — n criaa, kpuza, moai1

distinguish — v BigMiuatu(cs), Biapi3HATH(CS)

reserves — €KOHOMIYHI 3amacu

restrict — v oOMexxyBaTu
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Exercise 1
Translate the following sentences with words from the active
vocabulary.

1 Milk 1s distributed to the local shops by Herald’s Dairies.
2 Relationships between people of different cultures are often extremely
difficult. 3 Emma couldn’t be present so her husband accepted the prize
on her behalf. 4 Even an expert would find it hard to distinguish between
the original painting and the copy. 5 She made an inventory of
everything in the apartment. 6 Many teenagers play sports to gain a sense
of identity. 7 Shareholders have been told to expect an even lower result
next year. 8 In the equation 2x + 1 = 7, what 1s x? 9 During angry
exchanges in Parliament the Prime Minister said he would not change
existing policies. 10 Can the school board restrict teachers’ rights to
express their views?

Exercise 2
Find synonyms among the following words.

Restrict, shareholder, lender, recognize, barter, distribute, creditor,
exchange, divide, exuberance, identity, excess, depict, reserves, limit,
stockowner, authenticity, express, distinguish, stock.

Exercise 3

Complete the sentences with the words from the active vocabulary:
par value, lodged, excess, express, payable, lenders, distinguish,
emphasized, relationship.

1 Several ... are offering very attractive rates of interest at the
moment. 2 Cut any ... fat off the meat. 3 I found it very hard to ... what I
felt about her. 4 They ... a compensation claim against the factory.
5 They ... the importance of healthy eating. 6 Please make the cheque ...
to Helena Braun. 7 He doesn’t seem able to ... between what’s important
and what isn’t. 8 The ... between the parents and the school has
improved greatly. 9 The current price is $1,000 ....
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Text

A balance sheet describes the resources that are under the
company’s control on a specified date and indicates where these
resources have come from. It consists of three major sections: the assets
(valuable rights owned by the company); the liabilities (the funds
provided by outside lenders and other creditors in exchange for the
company’s promise to make payments or to provide services in the
future); and the owners’ equity (the funds provided by the company’s
owners or on their behalf).

The list of assets shows the forms in which the company’s
resources are lodged; the lists of liabilities and the owners’ equity
indicate where these same resources have come from. The balance sheet,
in other words, shows the company’s resources from two points of view,
and the following relationship must always exist: total assets equals total
liabilities plus total owners’ equity.

This same identity is also expressed in another way: total assets
minus total liabilities equals total owners’ equity. In this form, the
equation emphasizes that the owners’ equity in the company is always
equal to the net assets (assets minus liabilities). Any increase in one will
inevitably be accompanied by an increase in the other, and the only way
to increase the owners’ equity is to increase the net assets.

Assets are ordinarily subdivided into current assets and non-current
assets. The former include cash, amounts receivable from customers,
inventories, and other assets that are expected to be consumed or can be
readily converted into cash during the next operating cycle (production,
sale, and collection). Non-current assets may include non-current
receivables, fixed assets (such as land and buildings), and long-term
investments.

The liabilities are similarly divided into current liabilities and non-
current liabilities. Most amounts payable to the company’s suppliers
(accounts payable), to employees (wages payable), or to governments
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(taxes payable) are included among the current liabilities. Non-current
liabilities consist mainly of amounts payable to holders of the company’s
long-term bonds and such items as obligations to employees under
company pension plans. The difference between total current assets and
total current liabilities is known as net current assets, or working capital.

The owners’ equity of an American company is divided between
paid-in capital and retained earnings. Paid-in capital represents the
amounts paid to the corporation in exchange for shares of the company’s
preferred and common stock. The major part of this, the capital paid in
by the common shareholders, is usually divided into two parts, one
representing the par value, or stated value, of the shares, the other
representing the excess over this amount. The amount of retained
earnings is the difference between the amounts earned by the company in
the past and the dividends that have been distributed to the owners.

A slightly different breakdown of the owners’ equity is used in
most of continental Europe and in other parts of the world. The
classification distinguishes between those amounts that cannot be
distributed except as part of a formal liquidation of all or part of the
company (capital and legal reserves) and those amounts that are not
restricted in this way (free reserves and undistributed profits).

Exercise 4
Answer the following questions.

1 What is a balance sheet? 2 What main sections does it consist of?
3 Give definitions for is assets, liabilities, and owners’ equity? 4 What is
the main equation of a balance sheet? 5 What do non-current and current
assets include? 6 What are liabilities divided into? Characterize them.
7 What is working capital in terms of current assets and current
liabilities? 8 Give a definition of paid-in capital.
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Exercise 5
Look up the following abbreviations.

R.S.V.P., qty, thx, E.T.A., pls cfm, @, a/c, A.G.M., A.O.B., attn,
I.P.O., ASAP, re, C.0.D., approx, E.G.M., G.D.P., G.N.P., pls, no., b,
C.E.O., 1.O.U,, Jr., mo., mth, Inc., H.P., VAT, N/A, p.w., Nb, plc, PA,
p.a., Ltd., pd., PR, cc, PTO.

Exercise 6
Choose the correct alternative to complete the sentence. All the
sentences are about the protection of intellectual ownership.

1 The protection of something so that it can be made or sold by one
person only is by means of a (patent, right, rule). 2 The protection of
books, plays, films, records etc is by means of a (patent, microfiche,
copyright). 3 Most countries have laws to prevent the breaking of patent
protection. Breaking these laws is (piracy, burglary, felony). 4 This
protection, by patent or copyright, is the protection of the rights of
(property, ownership, justice). 5 If employees discover or create
something in the courses of their work, the patent or copyright belongs to
the (employees, State, company). 6 The right to manufacture copies of a
protected work is given by a (grant, licence, permit). 7 Under some
conditions, the protection of work can be (waived, withdrawn,
conceded). 8 The period for which protection exists is the (ferm, length,
date) of the copyright or patent. 9 The laws which prevent copying of
protected material are the (licensing, conspiracy, antipiracy).

Exercise 7
Translate the following combinations according to the model:
Model: mpoBeneHHsT TONMITUKU — the implementing of a policy,

implementing a policy.

Po3paxyHOK moAaTKy Ha JOJIaHy BapTICTh; BCTAHOBIICHHS
MOJATKIB, PO3BUTOK TOPTrOBEIBHUX BIJHOCHH; YpEryJIIOBaHHS OOpriB;
OopeHJa 3eMJi; ONOJATKyBaHHS; TOBEPHEHHSA IIO3UKHU; KYIIBIA
oOJaJHaHHA; KEPIBHUIITBO MiAIPUEMCTBOM; €KCIIOPT TOBAPIB.
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Exercise 8

Translate the following combinations.

Model: nipuiimaroun pimieHHS — making a decision, when making a
decision; puiHSB pillleHHS — having made a decision, on making a
decision.

Bunyckatoun axiiii; BUIIYCTUB akIili, MOIIUPIOIOYU PO3JPIOHY
TOPriBIIO;  30UIBIIMB  pO3ApIOHY  TOPrIBIIO;  BOPOBAKYIOUU
HOBOBBEJICHHS; BIIPOBA/IUB HOBOBBEICHHS; MIATPUMYIOUHU CJIa0Ki raity3i;
OiATpUMAaB CIa0Ki raigysl; peryjordyd OOMIHHUM Kypc HallOHAJIbHOI
BAJIIOTH; BIAPETyJOBaB OOMIHHMI KypC HaIllOHAJIbHOI BaJIOTH;
obuucmoroun BBII Ha nymy Hacenenns; obuucnuB BBII Ha gymry
HACEJICHHSI; BCTAHOBJIIOIOUM Tapu(du Ha IMIIOPT; BCTAHOBUB Tapu(pu Ha
IMIIOPT; 3HUKYIOUM COOIBAPTICTh; 3HU3UB COOIBAPTICTh; OI[IHIOIOYU
MaTepiajabHl aKTUBHU; OLIHUB MaTepiaabH1 aKTHUBHU.

Exercise 9
Put the verbs in brackets into the appropriate form.

A nation (have) its own set of assets and liabilities, a national
balance sheet (be) not simply the sum of the balance sheets of
individuals and firms. A nation’s assets also (consist) of national capital.
Such public buildings as public libraries, royal palaces and government
offices (know) (belong) to the national capital. Publicly (own) parts of
the transportation infrastructure or certain natural assets, such as raw
material deposits or natural forests (comsider) (be) national capital as
well. These items (may not) (include) in the balance sheet of any other
entity. Economists also (argue) that since the most important asset of a
nation (be) its labour force, it (should) (include) in the balance sheet in
some way. Both obligations and liabilities between firms and individuals
in the same country (cancel out) each other, as one person’s liability to
pay (be) another person’s asset. It is known that practically every nation
(own) either physical or financial assets abroad, foreigners (own)
physical or financial capital within a nation. The accounting of a nation’s
wealth, therefore, (should) (take) into account net liabilities to the
citizens, firms and governments of other countries.
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Exercise 10
Translate the sentences paying attention to —ing.

1 Proper organization of a company’s accounting system plays an
important role in maintaining the fundamental accounting equation in
balance. 2 Taking into account the high rate of inflation in the country,
potential investors are interested in putting their money in more
dynamically developing companies. 3 The increase of the company’s net
worth can be achieved either by raising the total profit or by reducing the
losses by means of rationalizing production planning. 4 At the general
meeting of the bank directors, everybody spoke of the company having
the highest goodwill in the computer industry. 5 The converting of
current tangible assets into cash is known to be done within one year
according to accounting principles. 6 Recognizing the importance of
goodwill as a company intangible asset, businessmen know that its value
can change over time. 7 Registering copyright according to the existing
laws guarantees the author the exclusive privilege to distribute,
reproduce, perform or display his creative work. 8 Studying the
relationships between assets, liabilities and equity is one of the methods
for better understanding main accounting principles in business. 9 This
company is said to specialize in producing small-size farm machines and
it is successfully competing with other leading producers in the world
market. 10 The designing of the original trademark can be helpful in
promoting products, thus increasing the company’s net worth.

Exercise 11
Replace the underlined parts of the sentences with gerunds and
prepositions given in brackets. Make necessary changes.

1 According to the special Copyright Act nobody is allowed to
reproduce and make copies of any book if he doesn’t receive the owner’s
permission. (without) 2 When the owner signed a number of documents,
his real estate was transferred to this educational centre. (after) 3 When
the accountant was preparing a balance sheet, he made a few serious
mistakes. (in) 4 The company is able to increase its profits only if it
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introduces proper technologies. (by) 5 If the Sales Manager decides to
sell company stock-in-trade, he has to consult the company’s president.
(before) 6 The company can attract additional capital investments either
issuing extra stocks or borrowing a loan from a bank. (by) 7 Even
having sold a great share of its stock-in-trade, the company is reported
to be bankrupt. (in spite of) 8 When the accountant subtracted current
liabilities from current assets, he found out that the company was clear
of debt and there was the net worth of § 50,000. (on) 9 If the company
does not enjoy a good reputation, it is not expected to be attractive to
potential stockholders. (without) 10 If the Personnel Manager is going

to hire a new employee, he always invites the latter to an interview.
(before)

Exercise 12
a) Choose the definitions for: wage, salary, pay, fee.

1 This general term means money given to an employee by an
employer in return for work. 2 An amount paid for a professional service
or advice (as of a doctor, lawyer, etc.). 3 A regular fixed payment for
work or services, especially when clerical or professional, which is paid
at longer intervals, often monthly. 4 Money paid to an employee,
especially for manual or physical labour done at relatively short
intervals, often hourly, daily, weekly.

b) Fill in the gaps using wage, salary, pay, fee.

1 For packing products the worker earns a weekly ... of $50.
2 The company offers excellent rates of ... . 3 How much is the ... for
your advice, Doctor Smith? 4 ... at this plant are paid on Fridays.
5 All company employees receive an annual... rise of six percent.
6 The starting ... for an engineer at this company is $15,000 per year.
7 The ... for these services will be about 30 percent of the total cost.
8 A manager’s ... depends on how well the business operates.
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Exercise 13
a) Find definitions for the words: a stock (a share), stock-in-trade, a
bond, goodwill, a trademark, a copyright, a loan, a patent.

1 A document showing a fixed unit of a company’s share capital
that pro vides a profit (dividend) related to the total profits of the
company. Owners of this document also have voting rights. 2 An exclusive
legal right, for a certain number of years, to print, publish, record,
perform, sell an original text, work of art or design or part of it. 3 This
term means such items as knowledge, contracts or reputation that can
have a financial effect on a business and are measured in financial terms.
4 A document from a government or a company that states that money
borrowed from an investor will be repaid. 5 A name or symbol that is
used on the products of a particular company. 6 The goods or services
that a business has for sale at a given time. 7 An official document that
gives the holder the sole right to make, use or sell an invention and
prevents others from copying it, usually for a fixed period. 8 Something
lent, usually money, on condition it will be paid back after a definite
period with interest.

b) Fill in the gaps with words from the a) section.

1 The author of the original work may keep the ... or sell it to
someone else. 2 Government ... are usually considered to be a safe
investment. 3 The total dividend per ... was 10 pounds. 4 To protect his
invention such as a new machine, a medicine or a process a scientist
must obtain a ... . 5 This company is very proud of its reputation among
the partners and cannot afford to lose its ... . 6 For the company to
expand, its owners often ask banks for a ... and agree to pay interest after
a definite period of time. 7 ... of the leading car producers such as
Mercedes, Lincoln, BMW, Toyota, etc. are known all over the world.
8 The ... is shown as an asset on the balance sheet.
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Supplementary Text 1
Accounting Steps

Each time an item is purchased or sold, a bookkeeper performs the
first three steps of the cycle and passes on the information to the
accountant who carries out the last four steps such as: calculate
adjustments; prepare adjusted trial balance; prepare financial statements;
close entries. The most common reasons the accountant should consider
preparing adjustments are the following: increased revenue (for example,
interest earned but not yet received); any government taxes or employee
salaries that have not yet been paid; the value of the office supplies that
have been used (electricity, water, etc); depreciation of the assets;
changes in the inventory, etc. As to inventory, it involves the physical
measurement, counting and evaluation of items for sale. Inventory
evaluation is subject to a variety of accounting methods, since many
inventory items cannot be specifically calculated. The grain in a grain
elevator, for example, comes from different sources and may have been
bought at several prices. An accountant must choose between one of
several methods for valuing the grain; each will provide a slightly dif-
ferent value figure. On the fifth step when the adjustments are
calculated, the accountant prepares an adjusted trial balance that
combines the original trial balance with the effects of the adjustments.
The balances in the accounts are the data that make up the organization’s
financial statements as a balance sheet and an income statement. The
preparation of these statements is considered to be the main purpose of
the sixth step. The final step comprises a series of bookkeeping debits
and credits to transfer sums from income statement accounts into
owners’ equity accounts, and thus into capital. Such transfers reduce to
zero the balances of all accounts, therefore the accounting books will be
ready for the next accounting period.

Answer the questions:
1 Why is it necessary to make adjustments in a balance sheet?
2 What does the term ‘inventory’ mean for an accountant? 3 Is the
balance sheet considered to be the final important financial document of
the company? 4 What account do closing entries affect?
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Supplementary Text 2
Accounting Industry in the USA

Accountants and bookkeepers work for business firms, government
agencies, and many other organizations. In the USA public accountants
are those who are available to the public for such accounting functions
as monthly bookkeeping and tax preparation. Most states do not regulate
the qualifications or performance of public accountants.

The only accountants permitted to offer opinions about financial
statements should be Certified Public Accountants (CPAs), who have
passed difficult national examinations. Accountants must also fulfill the
requirements of the state in which they practice including several years
of varied experience within the profession. Provided a person is a
certified accountant, he will be licensed by the state to perform
accounting services to clients for a fee.

Business companies, banks and large corporations employ their
own accountants to examine their accounts and prepare financial
statements or maintain their own internal accounting departments. If a
small company or business required to prepare some financial
statements, it would hire the services of an outside accountant.

Most US CPA firms are relatively small and represent individuals
and privately held businesses for whom they prepare financial
statements and act as advisors on tax matters. The largest accounting
firms in the United States are known as The Big Five and a large number
of their offices are spread throughout the world and the nation’s largest
companies are their clients.

Of the various specialized areas of accounting that exist, the three
most important are: auditing, income taxation, and non-business or-
ganizations.

Auditors are accountants who estimate the accuracy of a com-
pany’s financial statements, and if they find any disagreements in the
documents with generally accepted accounting principles, they will be
responsible to inform about them in their report.

35



Income taxation as the second area of accounting specialization
includes determination of a company’s taxes according to the existing
laws. The tax accountant sometimes may be a lawyer, because if there
had been any changes in tax law, he would have informed the company
about it. The methods chosen to report assets and liabilities will
influence the amount of tax to be paid, at least within the fiscal year.

A third area of specialization is accounting for non-business
organizations, such as universities, hospitals, churches, trade and
professional associations, and government agencies. These organizations
differ from business companies in many items: they receive resources
without paying for them, they do not have profit orientation, they have
no defined ownership interests as such. As a result, these organizations
have a number of differences in record keeping, in accounting
measurements, and in the form of their financial statements.

Answer the questions:

1 What is the difference between a public accountant and a
certified public accountant? 2 What are the main requirements to a CPA
in the USA? 3 How does the work of an accountant in a big and in a
small company differ? 4 What are the main branches of specialized
accounting? What are their tasks?

Supplementary Text 3
Auditing

The profession of the auditor is considered to be one of the most
prestigious and well-paid ones. Auditors are accountants who analyze
financial statements of the company and their responsibility is to express
an opinion as to whether the accuracy of the company’s financial
reporting meets the requirements imposed by the government. In
general, auditors deal more with operating efficiency and managerial
effectiveness than with the accuracy of the accounting data.

Internal auditors are known to be hired by the company in order to
help to identify accounting weakness and correct them before significant
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errors occur. They are often analytically minded people who make
flowcharts of accounting systems and evaluate these flowcharts to
suggest improvements in division of labour, paper flow, cash control, or
other accounting responsibilities.

Independent auditors are employed by a company’s board of
directors to supply the stockholders with the results of checking the
financial statements, in order to prove that annual reports are fair
representations of the financial position of the company. Performing his
work the auditor should follow several principles and assumptions: the
company’s accounts must represent a true financial position; generally
accepted accounting principles have been used at all accounting steps
and accounts can be compared with those of similar companies; the
proper amount of information is disclosed in the financial statements. As
a result, the auditor’s opinion should be based only on facts and it must
be objective. Auditors are expected to maintain a relationship of strict
independence and professionalism with the companies for whom they
work, so they mustn’t hold shares in these companies. On the one hand,
the auditor should respect the client’s confidence, so having the access to
some private information, the auditor must not spread it outside. On the
other hand, he should think of public interests, that is why he must
publish his opinion in a standard form and the information is to be clear
to the stockholders. But he must always carry out his duties under the
law and inform authorities about fraud.

Answer the questions:

1 What is the difference between internal and external auditors?
2 What main concepts should be considered by the auditor? 3 Why is it
necessary to receive an independent auditor’s opinion?
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